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A mouse’s ability to hide helps it
survive because it enables it to
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A rhinoceros’s horns are an adaptation.
How would a rhinoceros use its horns?
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| have a backbone. | am bigger than
most invertebrates. | also move faster
than most invertebrates. What am |?

| do not have a backbone. | am smaller
than most vertebrates. | move slower
than most vertebrates. What am |?
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why some-aimalg often
travel in large groups?

A The early bird gets
the worm.

B A picture is worth a thousand words.

C A leopard cannot change its spots.

D There is safety in numbers.

>

A bats eat fruit and leaves
B bats.depend on hearing
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do opossums use when predators
are around?
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A They play dead. '+ e
B They run. .
C They hide in a shell.
D They burrow underground.

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for
non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership

Animal Diversity and Adaptations

Class

A mouse’s ability to hide helps it
survive because it enables it to

=
14

Al fivdfens

B ture-arey

[ ar(

D \esc: dators

M

Date

A rhinoceros’s horns are an adaptation.
How would a rhinoceros use its horns?

A RO INg
B eati v @
C pratecting '
alf : ' :
D “iormating

| have a backbone. | am bigger than
most invertebrates. | also move faster
than most invertebrates. What am |?

| do not have a backbone. | am smaller
than most vertebrates. | move slower
than most vertebrates. What am |?

7

PREVIEW

Please Sign In or Sign Up to download
the printable version of this worksheet

\,

TTOTCO TTavG T OTC VI T O TaC TTCToo

protect them from predators?

A thick fur .nBz i f @

B_thin fax =7 =N

C whiteluF e }

D R~ H, ‘{WW

| H |

Whici. | I lexpression best explains @

why some-aimalg often
travel in large groups?

A The early bird gets
the worm.

B A picture is worth a thousand words.

C A leopard cannot change its spots.

D There is safety in numbers.

>

A bats eat fruit and leaves
B bats.depend on hearing

tead ‘Sight
C|bals depend onsig

tead.ef heging 3
D bats hear/beller during the de

hailbehsyioral at/aptakohn taclic
do opossums use when predators
are around?

)
A They play dead. '+ e
B They run. .
C They hide in a shell.
D They burrow underground.

© Copyright NewPath Learning. All Rights Reserved. Permission is granted for the purchaser to print copies for

non-commercial educational purposes only. Visit us at www.NewPathWorksheets.com


http://www.NewPathWorksheets.com/#login
http://www.NewPathWorksheets.com/membership
http://www.tcpdf.org

